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Exercise 1. Determine the value of the following limit:
7 = Yin sinh(e® ~ 1) —z — 22/2 — x3/3.
z—0 z4
If this limit doesn’t exist, cross out the equal sign and write “DNE.”
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Exercise 2. Compute the product of matrices below. 'If the product doesn’t exist, cross out the equal sign and
write DNE.
1 -1 0 3 ;1 _}1 - 5
0 1 1 -2 1 o |= 4 %
2 -1 3 1 ]

Exercise 3. Let E be a vector space of dimension 2 and let & = (e;,ez) be a basis of E. Let f : B — E be the

"~ endomorphism of F such that
N, f(e1) = 2e; + e2, f(e2) = e + 2ex.
You dg\ﬁiq need to justify that such an endomorphism exists and is unique. } ‘ i

1. Cpmpu,te' f?(e1) and f?(ez).
N/ ' | {QQJ - 2;((?9‘ +@ + o,+%¢,: He g ‘/
rie = fofled = flae 42 = 2fled+ [fleed = xloeea) * < 1*Uey
f2(e2) = 606&&\1 6(04&-&7) = 6(94) +20(g) ~ Leqateg + IX (“’4 GZQL): Loy 26 \/

2. Let P € R[X] be the polynomial P = X2 —4X + 3. Compute’(f)(e1) and P(f)(e2)-
/




